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Math 170A-5 Yeliussizov. Midterm 1

Exam time: 4:00-4:50 PM, Jan 31, 2018

-ijt jame: @(% i (T‘A -
Student ID: q Oq % %__?}_Cb_______________
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There are 5 problems.
No books, notes, calculators, phones, conversations, etc.
Turn off your cell phones.




problem 1. (8 points) Roll two fair six-sided dice. -
(a) (4 points) Find the probability that both outcomes are equal or their sum is at least 8 and at most 1U.

(b) (4 points) Find the probability of the same event as in (a) given that at least one outcome is 0.
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Problem 2. (8 points) There are m_boxes and n of
randomly choose three boxes. g
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3. (8 points) Consider a box with 3 white and 2 black balls. You repeat the following twice:
_andom ball from the box and replace it by a ball of opposite color (

black, or black to white). After these exchanges, you choose a ball from the box.
nts) Find the probability that it is a white ball.

nts) Suppose a white ball was picked. Find the probability that the box contains only white
we ™0

i.e., exchange randomly chosen
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73 % problem 5. (8 points) Toss a fair co; :
A alr com n times. What is th i ads i '
>4 \arger than the number of tajls? e probability that the number of heads is ‘
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